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AABE = 10cm? & o], AEBC 9] 4l 0]=?
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® 10cm? @ 12cm? @ 15cm?
@ 20cm? ®)25cm?

AABE + ADCE = %DABCD

AABE : ADCE=2:3
ADCE = 15(cm?)

" AEBC = %DABCD = 25(cm?)
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D)Y4cm? @ gch ® 5cm?
@ %cm2 ® 6cm?

ABDE = %AABD = % X %DABCD = 12(cm?)

ADBP : AEBP =2: 10|22

ADBP = gABDE = ; X 12 = 8(cm?)
ABPQ: ADPQ=1:1

1 1
ADPQ = §ADBP =3 x 8 = 4(cm?)




3. o8 Iy e HPAHYP ABCDOJA AE : ED = 3 : 20|12
OABCD = 60cm? ¥ T, AABE 9] Yo]=?

I D

D) 18cm? @ 22cm? @ 26cm?

@ 30cm? ® 34cm?

B C

1
4BEC = ABDC = ;0ABCD = 30(cm?)

AABE + ACED = 0ABCD - ABEC = 60 - 30 = 30(cm?)
I, AABE : ADCE = 3: 20|22

AABE = g x 30 = 18(cm?)




